



**Vendor Ranking** 

Page 1 of 1

**Letting:** 01191121

November 21, 2019 11:00

AM

Call Order: 004

Contract: E

E1T19-R0

**District:** District 1

Counties: DIST/ST-WIDE, POLK

Fed Aid No: N/A

Contract Time: 365 AVAILABLE DAYS

**Project(s):** 43272727219 (\*)

Contract Desc: Tree Trimming and Removal

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$148,550.00	100.00%
2	D & M MOWING INC	Non Responsive	Non-Winning Bid	\$188,250.00	126.73%
3	ABSOLUTE TREE AND ASSET SERVICES, LLC	Responsive	Non-Winning Bid	\$197,587.00	133.01%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 3

Letting: 01191121 Call Order: 004

Contract: E1T19-R0

District: District 1 Counties:

Fed Aid No: N/A DIST/ST-WIDE, POLK

Contract Time: 365 AVAILABLE DAYS

November 21, 2019

**Project(s):** 43272727219 (\*)

Contract Descr: Tree Trimming and Removal

The work under this contract consists of Tree Trimming and Removal

Line No / Item ID Alternate	Quantity Units	\ \ /	(1) T & M LAWN-FENCE SERVICE INC		(2) D & M MOWING INC		(3) ABSOLUTE TREE AND ASSET SERVICES, LLC	
( ) indicates item is bid as Lump Sum	<b>-</b>	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001	TREE TRIMMIN	NG AND REMOVA	L (MH)					
0005 E580332 20 TREE REMOVAL (LESS THAN 4")	25.000 EA	10.00000	250.00	35.00000	875.00	25.00000	625.00	
0010 E580332 21 TREE REMOVAL (4" TO 12")	75.000 EA	100.00000	7,500.00	50.00000	3,750.00	111.00000	8,325.00	
0015 E580332 22 TREE REMOVAL (13" TO 24")	75.000 EA	280.00000	21,000.00	350.00000	26,250.00	211.00000	15,825.00	
0020 E580332 23 TREE REMOVAL (25" TO 36")	35.000 EA	300.00000	10,500.00	600.00000	21,000.00	511.00000	17,885.00	
0025 E580332 24 TREE REMOVAL (37" TO 48")	10.000 EA	400.00000	4,000.00	1,200.00000	12,000.00	911.00000	9,110.00	
0030 E580332 25 TREE REMOVAL (> 48")	5.000 EA	800.00000	4,000.00	500.00000	2,500.00	1,333.00000	6,665.00	
0035 E580332 99 TREE AND BRUSH REMOVAL	2.000 AC	2,900.00000	5,800.00	2,500.00000	5,000.00	1,011.00000	2,022.00	





# **Tabulation of Bids**

Page 2 of 3

Lettin	<b>g:</b> 01191121	November 21,	2019 <b>Cal</b>	II Order: 004		Contract:	E1T19-R0	
Line No / Item ID Alternate Quantity Item Description Units		e Quantity Units	(1) T & M LAWN-FENCE SERVICE INC		(2) D & M MOWING INC		(3) ABSOLUTE TREE AND ASSET SERVICES, LLC	
( ) in	dicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	TREE TRIMMIN	NG AND REMOVA	L (MH)				
0040 STUMP	E580334 1 P GRINDING (4" TO 24")	150.000 EA	40.00000	6,000.00	20.00000	3,000.00	50.00000	7,500.00
0045 STUMP	E580334 2 P GRINDING (25" TO 48")	45.000 EA	40.00000	1,800.00	75.00000	3,375.00	125.00000	5,625.00
0050 STUMP	E580334 3 P GRINDING (> 48")	5.000 EA	40.00000	200.00	100.00000	500.00	251.00000	1,255.00
0055 PRUNII 4")	E580336 NG AND TRIMMING (LESS T	1,000.000 HAN EA	5.00000	5,000.00	5.00000	5,000.00	15.00000	15,000.00
0060 PRUNII	E580336 1 NG AND TRIMMING (4" TO 2	2,000.000 4") EA	35.00000	70,000.00	40.00000	80,000.00	40.00000	80,000.00
0065 PRUNII	E580336 2 NG AND TRIMMING (> 24")	250.000 EA	50.00000	12,500.00	100.00000	25,000.00	111.00000	27,750.00
	001 TREE TRIMMING AND S REMOVAL (MH)	Section Totals:	1	\$148,550.00		\$188,250.00		\$197,587.00
Contract Grand Totals:			\$148,550.00		\$188,250.00		197,587.00	



11/22/2019

**Tabulation of Bids** 

Page 3 of 3

Letting: 01191121 November 21, 2019

Call Order: 004

Contract: E1T19-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.